Ampliacién 1

Sumas

16 + 4 =
18+ 2=
12+ 6 =
14 + 4 =
14 + 6 =
12+ 3=
16 + 7 =
18 +5 =
12+ 9=
14 +1 =
14 + 8 =
12+ 6=
16 + 9 =
18 + 3 =
16 + 2 =

Método de rapidez de calculo mental

Restas

17 -6 =
15-2 =
11-6=
19 -4 =
17 -6 =
11-4=
15 - 4 =
17 -2 =
13-6 =
13-4 =
15-6 =
17 -4 =
19 - 4 =
19 -2 =
17 -4 =
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Multiplicaciones

14 x2 =
15X%2=
10x 5=
8 x4 =
9x6=
7x4 =
6x9=
15x3 =
12x2=
8X6=
4x9=
I X9=
15x3 =
Ox7=
7 X6 =

Divisiones
49 :7 =
36:4 =
2319 =
64 :8 =
90:9 =
296 :7 =
16 : 4 =
48 16 =
60 36 =
54 :9 =
1218 =
32:4 =
63 7 =
906 .8 =
24 14 =

Basado en el método wi-%_>
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